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Day 28: Complete ONLY ONE of the four prompts. You should complete the same
number each day. (Ex: Always complete #4 every day from 21-30)

1. NTI Daily Reading Log

Directions: Choose a book or some articles and spend at least 20 minutes a day reading. After you read,
record the date, name of the book, the time you spent reading, and the number of pages you read in the
reading log for that day. Then, write a summary of a few sentences about what you read. Remember the
summary practice you completed in the previous week to help you capture key details in your log,

Day 28
Date: Name of Book: Time Spent Reading: Number of Pages Read:

Day 28 Summary: (1-2 sentences about what you read)

2. Journaling Directions and Rubric
Journaling is a great way to reflect on things that happen during your day, get to know yourself better, reduce stress,
clarify your thoughts and feelings, and (of course) become a sironger writer.
Reminder: This:journal will remain confidential. That is, it will stay between youn and your teacher unless you write
something that shows that you want to Inrt yourself or others or you write something that shows someone wants to hurt
you. (Everything must be in accordance with applicable state and federal law regarding confidentiality)

Directions: Each day, complete a 100-200 word writing in a physical or ontine journal (like a Google Doc). You can
either respond to the daily prompts or simply record imporiant events in your life, consider current events, or make 2
gratitude/happiness record. You might consider how a journat record of your perspective during current events might be
interesting to study in the future. You can write more, but keep in mind that your goal is 100-200 words.

Turn in your journal entries weekly on Google Classroom. That is, tura in days 21-25 together and days 26-30
together.

Day 28: Imagine inventing a new holiday or celebration. What would it be called? What would it celebrate? What would
people do to commemorate that day?




3. i-Ready Reading Directions and Rubric

Complete the three lessons assigned to you on i-Ready Reading. Aim to work 20-30 minutes per day. Log your

1-Ready work time m the chart below and the score you get on quizzes. Turn in a copy of this log each week. That

is, turn in days 21-25 on Google Classroom and days 26-30 separately on Google Classroom.

Day 28: Analyzing Word Choice: Connotation-

Date:

Lesson Title: Time spent working:

Lesson Complete? Quiz Score:

In one complete sentence, what is something you learned from this lesson
today?

4. Multimedia Prompts Directions and Rubric

Directions: For each day, create a thoughtful image that meets the requirements of each prompt. Feel free (o be

creatrve! Fill the page with color/drawings. Put effort into your assignment and take pride in each day’s work. You

can take pictures of these images and submit them on Google Classroom, via email, or on paper.

Day 28: Define personification, hyperbole, and onomatopoeia on a piece of paper. Create an example of cach and

lustrate each. Be creative! Fill the page with color/doodles! Ex: “BOOM!” - Draw a firework exploding
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Evaluate each é)ipréééi_ph for the given \ialhe of X

P

1. 6x—5forx=4 , 2. —2x+7forx

8. 05x-+8Aforx=—1

Solve forx. ° o o | | | .
7. 3x+4=10 5x—11=34 11 2.

"2')(.‘?‘ 16 =39




Complete these exercises to review skills you will need for this module.

Evaluate Expressions

15. Show why'the expression —1.3x - 6.5 is neither positive nor negative when x = -5,

16, Evaluate the expression %x + 6.8forx = -2,0,2,and 4. Describe a pattern in the

results.

Solve Two-Step Equations

17. Describe a plan using inverse operations to solve %x + 8 = 42.Then find the

solution.

18. Caroline solved the equation below as shown. What was Caroline’s error?
05x —12=28
05x =68
x =136

© Houghton Mifflin Harcourt Publishing Company
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Name Team

( ) Science NTI Day 28- Mass Extinctions: Devastation and
Opportunity

.
a)
b)
©)
d)

d)

The Cretaceous-Tertiary extinction killed off % of all plant and animal species.
1-10 /

20-30

40-50

60-70

What is the leading theory as to the cause of this mass extinction?
Huge asteroid

Reduction is Earth’s water

Radiation poisoning

None of the above

. In Western India there is evidence of massive volcanic eruptions that occurred around 65 million years

ago. There are huge lava beds called the Deccan traps that cover square kilometers.
100.000
300,000
500,000

None of the above

No land animal larger than a survived the mass extinction 65 mya, but small mammals fared
amazingly well.

Bacteria
Mouse
Cat

None of the above
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Day 28: Maynard/Robinette

~~ Advances in transportation helped build America’s industrial econemy
v

/
\

The ability to transport goods and human beings efficiently is fundamental to economic life in modern societies. A brief look at
the early United States illustrates this principle dramatically. In the first half of the 19th century, Americans built a strong
transportation network. These investments in infrastructure were often described as "internal improvements" in the political
debate of the time. Improving technology and impressive feats of engineering rapidly transformed the North American
continent. Over{and roads, canals and railways greatly expanded economic opportunities.

During the colonial and revolutionary periods, most of the nonindigencus population of North America lived near the Atlantic
coast. Eighteenth-century America depended chiefly on water transportation to link smalt-scale farming and artisan industry
with transatlantic trade. Farmers living near the Hudson River or other river systems could float their crops downstream to the
port cities. Upstream travel was slow and difficuit. Post roads between the colonies had been built by the mid-1700s, but were
unsuitable for commercial transport. As a rule, the movement of agricultural produce and other goods was costly. It also took
a great deal of time. '

Paving The Way For Regional Commerce

In 1794, a new road opened between Philadelphia and Lancaster, Pennsylvania. It was the country's first toll road, built by a
private corporation chartered by the state. Soon other groups of merchants were incorporating to pave more turnpikes,
especially in the northeast. By the early 1820s, thousands of kilometers of graded paths crisscrossed the region. The toll roads
usually failed to turn a profit for their investors, but they provided a major boost to regional commerce. The federal
government paid for one major highway during this era. It extended westward from Cumberland, Maryland, at the
headwaters of the Potomac River. The Army Corps of Engineers began building the Cumberland Road in 1811. By 1818, it had
crossed the Appalachian Mountains and reached Wheeling, Virginia, permitting overland travel between the Potamac and
Obio rivers.

"\ Waterways Connect Rivers And Lakes
- Canals gave the system waterways still greater reach. The largest and most important was the Erie Canal, It was approved by

the New York legislature in 1817 and completed eight years later. It extended from Buffalo to Albany at a width of 12.1 meters
(40 feet) on the top and a depth of 1.2 meters (4 feet}. This mighty engineering feat created an artificial waterway connecting
the Great Lakes to the Hudson River. The Hudson, in turn, emptied into the Atfantic Ocean. The Erie Canal drastically reduced
hoth the travel time and the cost of shipping commodities such as grain and lumber from the Midwest to the Eastern
seabeard. It led to an immediate and dramatic increase in the shipment of such geods, and the state's investment in the
project paid off handsomely. By the 1840s, New York City had become the nation's leading commercial port. If was zalso well
established as the country's financial and trade capital. Other cities along the canal route, such as Rochester and Syracuse,
also prospered.

Other state governments hoped to copy New York's success. It led to a furious round of publicly financed canal projects. By
1840, the United States had dug more than 4,828 kilometers (3,000 miles) of canals. Both Ohio and Indiana built their own
canal systems connecting the Ohio River to Lake Erie. The Hlinois & Michigan Canal, completed in 1848, established a water
link between the Mississippi River Valley and the Great Lakes. It spurred the city of Chicago, Illino’s, to becorne the great
transgort hub of the Midwest. '

Trains Transpart Goods Across The Country

The steam-powered focomotive ultimately had the most far-reaching impact. Trains were a heavy-duty, fast, year-round
transport solution. In time, they became the preferred option for commercial shipping. The earliest U.S. railroads covered only
short distances, providing portage between waterways. In 1827, a group of Baltimore, Maryland, businessmen formed a
corporation to build the first major railway between their city and the Ohio River. Many more private railway enterprises
followed in the decades prior to the Civil War, Between 1840 and 1860, the nation saw a tenfold increase in the amount of
track taid, from 4,828 to 48,280 kilometers (3,000 to 30,000 miles). The majority of this development was in the northern

. states. The first transcontinental line was established in 1869. Once its infrastructure was completed, the railways lowered the
< cost of transporting many kinds of goods. Railroads themselves became a major industry,

Productivity Rises




These advances in travel and transport helped drive settlement in the western regions of North America. They were also

integral to the nation's industrialization. The development of steamboats and the canal system made it possible for farmers o

settte in the fertile lands of the Midwest and Southwest. Constantly improving transport systems gave them an efficient and
relatively inexpensive means to deliver their goods to market. The resulting growth in preductivity was staggering. Between o
1829 and 1841, for example, the amount of wheat delivered along the Erie Canal rose from 3,640 bushels to 1 million bushels. )
Busy transport links stimulated the growth of cities, especially New York and Chicago, but also strategically located towns such

as Buffalo, New York; Pittsburgh, Pennsylvania; and St. Louis, Missouri. The transportation system helped to build an industrial
economy on a national scale. '

Answer the following and return to either Mr. Maynard or Mr. Robinette:
Day 28

1. Which of the following MOST influenced the construction of the first toll roads in the northeast part
of America?
a. greater availability of federal funds to build roads
b. merchants desiring better roads
c. lower costs to transport goods on roads
d. decreased federal funding for building roads

2. How did the early railroads affect America’s transportation system?
a. They allowed for the first commercial shipping in the country.
b. They ended the use of canals for the shipment of goods.
¢. They allowed for the shipment of goods to be less costly.
d. They helped the government take control of commercial shipping.

o

3. Read the selection from the section "Productivity Rises."

The resulting growth in productivity was staggering. Between 1829 and 1841, for example, the amount of wheat delivered
along the Erie Canal rose from 3,640 bushels to 1 million bushels.

How does using the word "staggering” affect the tone of the selection above?

a. It makes the tone of the selection more factual,
b. It adds a dramatic tone to the selection.

c. It adds a defiant tone to the selection.

d. It makes the tone of the selection mare mysterious.

4. Read the selections from the introduction of the article.

The ability to transport goods and human beings efficiently is fundamental to economic life in modern socleties.
Improving technology and impressive feats of engineering rapidly transformed the North American continent.

Which two words would BEST replace “fundamental” and “impressive” in the selections above?

Basic; new

Key; miracuious

Central; wondrous

Essential; strange )

oo



